1. X3~

2. 2x-5=11

3. 32+5=




[1e Laws of EXponents

AaBbCcDdEeFfGgHhIIJjKkLIMmNAN

So farthis seems

prettveasy-ﬁ
S 34=3x3x3x3 =38l




Exponents

Power — 5”‘

base

exponent

Example: 125 = 5° means that 5° is the exponential
form of the number 125.

53 means 3 factors of 5 or5x5x5




The Laws of Exponents:

#1: Exponential form: 7ne exponent of a power indicates
how many times the base multiplies itself.

X = XXX *X*"X"X*X
— ~— J
\ n—times

n factors of x

Example: 5° =5-5-5




#2: Multiplying Powers: Ifyou are multiplying Powers
with the same base, KEEP the BASE & ADD the EXPONENTS'

m n m+n
X X =X
So Iget i“'l A;_El:-C-:DdEEFf-EthIlJJKI(. LiMmNRP
When you
multiply
Powers, you
add the

exponents!




1. ASx A=

2. 3A2x 2A%=

3. 4A’B x 5A°B%=




#3: DlVldlng Powers: when dividing Powers with the
same base, KEEP the BASE & SUBTRACT the EXPONENTS'!

So, I get it!

When you
divide
Powers, you
subtract the
exponents!




1. AS/A3=

2. 4A°/2A%=

3. 6A°B°/2A’B*=




Try these:

. 3°x3’= 7.
2. %x5'=
8.
3. a’xa* =
4. 2s*x4s’ = 0.
5.(=3)*x(=3)’ =
10.

6. st'xs't =




- SOLUTIONS

1L 32x32= 3?2_3*_3g]
ol s2x5t— 5%*=5°
2 B a5+2 -a7

4. 25*x4s’ = 2x4x s> =8s°

S ) R = (—3)" =243
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10 .5()a‘b_ _ 36=4xa> *b* =9ab’
4a’b’
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